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یر.سیدنو رآ رمو  نید عر  نو
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ا cµ2-=1qcµ2= +2qاص cm10نند؟ م  ه   د  یر چ   د. تگر ر ه
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  ذ ر  ا ککتر یر د. د ا ز ائ مث أ   ر ک مطا ا ذ 

ائ أ1qد  آد د .نید بمحا  یر

(2c/2N.m910×9=k)
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نوسید.  ککتر مید ژگ
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نید.   ککتر مید طو
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رر ک  د  شا و را ها اپا ککتر سیپتا تلv12ککتر ا گر .5-و

پااۀ ند؟ م غییر چقد آ ککتر سیپتا ر ،و جا  جا را مثب پااۀ  منف
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سیپتا تل ا را   ا ها صفحv20گر .نی م صا اcµ40،و

؟ چقد ا یظر)

سیپتا تل   ا  و؟)v40گر م چقد آ ککتر ا نی ص
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خت ا یظرnf20آ ککتر ا nc180.

؟ چقد ا   د یرذ ر)

 د یرذ ر .نی م رر  آ ها صفح ی اصۀ  جد را   ا.هو ا صفحا ی )

اد؟ م ز چقد ا
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باید... و






